Geometry - Ch. 1 Review Name:
MATCHING...Answers will be used more than once.

E- H A. Collinear
1. Like a dot. Indicates a location. 13. Segments with the same length are B. Coplanar
2 D Flat, goes forever in all directions. 14, 5 Two little segments add up to the big C. line \

! .-2 k segment. D. Plane
3. Has two endpoints. A piece of a line. 15. Two litle angles add up to the big i

angle. E. Point
4, C_ Straight, goes forever in two directions. 16. E Angle that measures exactly ?0° F. Ray(s)
5. E Starts at one point and goes forever in one 17 L Angle that measures less than 90° G. Segment
direction.

18. i \_l Angle that is more than 90° but less than 180° i Congruent

6. C Two points determine a I. Parallel

D ' . . 19. 4@ Angle that measures exactly 180 J. Segment Addition
7. Three non-collinear points determine a ___

A 20. M_ Unit of measure to measure angles Postulate
8. Points on the same line are K. Angle Addifion

21. Q Instrument used to measure angles
9. i ) Points on the same plane are Postulate

>< 22. L The sides of an angle are called _____. L. Acute

10. E Two lines intersect in a

M. Degree
1. C Two planes intersect in a . ﬁ R.iOote
0. Protractor
12. E Two lines that never intersect are B Right
Q. Straight

Fill in the blank with the correct word.
23. How many endpoints are on a line? Z€Y 6 onasegment? 2

on aray? l on a plane? Zﬂfo

24. Do we ever use three letters to name a segment, line or ray? No @careful...this is @ common error on the fesH!

25. When naming a ray, which letter always goes fistz _€0nd foin hY

26. How many lines can you draw through one point? i'(\{" iniﬁ picture: 27. What about two points? | picture:

Use the diagram to name the following. Use proper notation! 5 - =

28. In the diagram, name two different rays that go through point A _ C’B

29. Now, state two different ways to name the ray having endpoint A ﬁ 'F—%?. : j B C P

30. List three points F\, B C 31. How many points are on this Iune2 3

32. List three different segments PrB BQ PrC 33 Nome the longest segment ;

34. List three different ways to name this line PrB F\(- BC _‘ / /

35. Use the next picture to name the plane two different ways P\hnt.. P PI M.EABC

36. List three points on this plane A " B.. £ 37. How many points are on this plane? m-}q;ﬁ an a_f,ga‘

Use the diagram to determine if these are the same. Answer yes or no.

38. 34 and AN NO 39, N and MA_NO 40 3iana AM YES 41. NA ana NM Yes™

Use the diagram to name the intersection of each pair of lines.

42. DB and EF C 43, FGand CD_R 44. EDand CF € 45 BF and ED _Nane
46. The name for two coplanar lines that do not intersect is Pacalle! are B. C and D collinear? ff_{:Sc, F. D%, N_Q
Use the diagrams to name the intersection of each pair of planes. el
47. RandS line Q. 48. UandT line d 49. Rand T Ua:}) 5. Randu Nooe :

c d

51. Since R and U don’t intersect, they are called paralu.\ d ) )

52. In the next picture, the plane that contains linesaand bis__ |7,

P Dy

P
53. The intersection of planes P and S If{ﬁ a « Qw i

54, How many points are in the intersection of these planes? 3 Are K, F, Q, and D coplanar? N o]
Are B, F, Q and D coplanar? N (o]




Use the Segment Addition Postulate to find each length.

57.

55. TN || | N °
/ KI 1 .E' a . _ N X 2X+3 Y 5.1 2
/ 22 Q F 25 G H
Na=_ 2.0 O - xt=_ "7 X+ 2
| |
58 ® & -y 59. |— 2x + 2 '—""_f 40. [ 5x 1
R 7x— 8 S 2.4 T ) © = o ¢ %
L M X N F G 3x-4 H
rr= X =1"2 m=_ X+ ro=_2xX+Y
Use the Segment Addition Postulate to write an ALGEBRAIC EQUATION. Then, solve the equation for x.
| 27 | I 32 I__ 8x+9 —|
61. - 3 62. 63. e ° o
2x N X xS v ] R 7x-8 S 3x+5 T

L x M
R 5 o 5, e W |

Equation 2X+3 + 3)(“\ - 32-

Equation 7*"‘8 “'BX"'S = 8R+q

Use the pictures to match iwo PAIRS of congruent segments. Use the correct notation to write a congruence statement.

64. Congruence statement pairs:

AR2CF
PR

Y, E £

A " 8 . H
N ' -
X

Given the picture, state the measure of each angle or write the measure in the proper location on the diaTram.
65. d 7 67.
=)
8V 420
A s
° @
ms PRT = 8‘ me TRS:qz 2q0 Z 3 = ms YXZ = 10° ms WXY = 50° mZ1=110° ms2="T0°
ms REU = ms VEU= 0 me WXZ= 60° mZ3=110° m/ 4= 70°
Find the measure of each angle using addition or subfraction.
69. m£ RSP = 20° 70. m< ABD = 120° 71. mZ 7108 = 150° o
m. PST = 30° mZABC = 35° gt 120° DO
o mZTOR =
morst=_20 mzcp=__ 39 g o \&0
m< SOR = 3 T P R
A
72. mZ EFH =15° P 73. mZ PQR =23° 74. mZ RQS =57°

E
me EFG = 1 90 15

mZ HFG = I bi-).

s pgs= N0 P R

msRQs=_(p7]° o

mZPQs=10° P R

mZPQR=_23° a 3




Now write an ALGEBRAIC EXPRESSION for the given angle.

75. mz ADC= | B% +9

Now write an ALGEBRAIC EQUATION for the given angle and solve.

77. mZKM = _LDO°

Equation: ‘ Ox—'s + Lh'\+% - ‘ 80°

76. mZ NRQ= !25:‘! 6

x=_1%

mzkiN= 13S° msnv=_59°

L M

Y

(x—4)y
78. mzvrs=_90 °© V/”
N -
Equation: X "Ll t+ 3 '.‘H-l-—qo 4
(10x — 55 [4x + 3)° {3x+2F
I A s

6
m£ VRT = l] mZTRS = ]Io

79.

Which statement about the figure is true?
A 0
£ K3
4 8
¥
(A Linesx and y intersect at point A.
(B) Points 4, B, and C are collinear.
@ﬁ" and ED are opposite rays.

(D> Another name for AE is AB.

80.  Name three points that are collinear.

(B) H, G, andJ
® G, J,and ]

@G, H,and /

(C) F,G,and /

81. What is the intersection of plane HGY and
plane HFX'?

A HZ

(B HZ e
(€ Point H -
(D> Plane EFH

79.

82,  Name the acute angles in the given figure.

< ¢

0
F

(A £CAD and £DAE
(B) £BAC and £ FAE

(€) £BAF and £CAE
(D) £ BAD and £ FAD

83. Whatis the length of XZ?

6 18
X ¥ 2
(A3
(B 12
©
@ 25
E 114

Ifm£MPN = 85°, whatis x?

A s B 6
©1 D 20
(E) 21

85. Which line is nor drawn?

® AE ® EC
© BD @ FD
® ¢

86. Which points are collinear?

(A A, E, C B F.D.E
A E D D D.EC

(E) G,B,E

87. What is the intersection of AC and BD?

B AC @® EC
@D D> B>
BE




Geometry - Ch. 2 Review Name:
' Fillin the blank with the missing term.

/

/
/ 1.Two angles that add up fo 180°, Supplementedy snales e
2. Ray that divides an angle into two congruent angles. hﬂg}t \9159 Chv Complementary
3. A segment, line, ray or plane that intersects a segment at its midpoint. SC‘;N‘CV\\' Angles
4. The point right in the middle of a segment._Mai iny biséctor SUpplem%rgggtAngles
5. Two angles that add up to 90°. _ oM plementary angjes Adjacent Angles
6. Two angles that make a straight line. _1in@ar pyic ) | Segment Bisector
7. Angles next to each other that share a common side and vertex. ad l)acen{" 3“3 ATQ'GC?F'SF?;IW
* e
8. Angles across from each other that are always equal. N€(¥ial angles Verlt?ccnl AP
9. When a conclusion is reached based on FACTS. Deductive Yeasoning Inductive Reasoning
10. When a conclusion is reached based on a PATTERN. \nduelive Yeasoniny Deductive Reasoning
11. Draw the midpoint of 4B and label it | 12. M is the midpoint of JK. Write an 13. Use the Midpoint Formula to find the
X, then name the resulting congruent equation, solve for x, and find the coordinate of the midpoint.
segments. indicated lengthes. (-7.5) and (5, 3)
A B 8x+4 10x-20
i et e
J M K
The congruent segments are: A%, W& Midpoint: ILL,_LI'_I
A segment has _ | midpoint(s).
o point(s) x= & Jjm= 10O Mk= |00
14. Draw and label three bisectors of 15. Notice the bisector and 16. Notice the bisector and
this segment, corresponding tick marks. Find the corresponding tick marks. Find the
A B indicated lengths. indicated lengths. AC = 150 yards

[ ]
/
|

A segment has €0  bisectors

* g _ 0,
—18.25 —y/
© s v 1 *® A
A (A 1]

cB=_19.25 as=_36.5 AB=_ 16 Bc= 16

17. ¥4 18. BD bisects 2ABC 19. Y4 bisects £XYZ .
X ¥ mz1 = 56° i MzXYZ = 54° A
W —_—y ms2= S56° 4 mel= Zﬁ'
Name the bisector of this angle. W& | m,ABC= 112°  — & g mz2=_28° e 2 -
Name the congruent angles: €XW2, Lywz
20. Given that BD is the bisector of 21. Given that WZ is the bisector of 22. Name the adjacent angles in this
£ABC, write an ALGEBRAIC EQUATION | 2XWY, write an ALGEBRAIC EQUATION | picture.
and solve. o ¢ and solve. 0': '/r:
Gy+3 =5| ay+3y\/ . -
A B

v=_© msrep=_ 5l miac=102 |x= 9 moxwz= 19" mawy=15" | Adjacent angles:LABD 4 &PBC

23. 24, 25. \ 26,
] . o
] 5 ] 72 re 250 1 42"

Complement: 76°| Complement: Néne < > f
Supplement: °| Supplement: Qe
1S 6 These angles add up to 1D0° m.1=19Y4* These angles add up to 90 m.zi= qﬂg
27. 28. 29.
B i

mel= G Q° m/_2="‘“)°

oY E" .
Meseanglesare = mz1= mel= 120" 0= 60° me3=_|20° | mea= 80“ me4= Ho*




31. Determine whether the angles are vertical, complementary, supplementary |
none of these.

s40nd 25 _Complementary
£2and 24 _Nex¥ical andjles

30.

mesl = ?—00 m/_2:6_0°

. - ¢3and 24 _supplementary
me3 = j0O m/_4=’)-0° 2l and £3 __Non€ \
Given the picture, write an ALGEBRAIC EQUATION and solve for x.

32. These angles add up to _q06 33. These angles o%i are_= 34. These angles add up to |§ ©
Equation: A B Equation: 2 ‘ Equation:
- Bx10)° 1OX- 5 » &-5)°
Bx-\0+3x+ 25290 chmo Iox 5‘-‘-“5 —:>< 24 lb+5)(-5:|80(3(+ 10) (5¢3)
IOx =\S0 (10x-6)°
D _
¢ %=\5
o L]
x20.% maep=44.9m.08c=4%.5 | x= 15, x=_25

Underline the hypothesis once, and circle the conclusion.

35. If | pass my driver’s test, ther{l will get my license,

3é. If this is Homecoming Week, ’rherﬁ-h—e—re will be an assembly on Fridc@

Decide whether this is an example of inductive or deductive reasoning.
37. The sun is a star, the sun has planets; therefore some stars have pchne’rs.b‘e,:i\,4;_-\—(\,,»@~

38. There has been a float party every night this week, therefore tonight will be a float party. lv\,duc\-io-e.

Give a counieréxample to show that each statement is false.
39. All GP students are sophomores. _ o8\ is 3 &P stvdent ¢ ig 2 senlov

40. All quadrilaterals are rectangles. _ B -’frape'zﬁé s ¥ Q\’\ﬁéft.\&“t( al butnet a fed\—":j("-o

Write next three numbers in the pattern

4. 51,3710 . 185,19
42.2,3,5812 17 .23 . 30

43, Conditional: If a quadrilateral has four right angles, then it is a rectangle.

Converse: lQ a q.l)ad(;\QWQ.\ TS a f&hﬂ%(ﬂ 'Meﬁ H' h‘&{ l* r\\%h‘t‘dnﬁuj@ or False

Inverse: 1§ N}\b&d( ilatesal Dogs NOT have 4 fi%hi‘ dnf‘l(ﬂ&,."’heﬂ i+ Not Uem%or False

Contrapositive: \€&a qg&g}ﬁl;jﬂ al 1sNoT a.re.c:l*mato, dhen it Does YoT have Y right @ or False
What can you conclude from the true Write a single if-then statement that follows from the
Statements below? pair of true statements below.
44, If you wash your cotton t-shirt in hot water, 45, If the ball is thrown at a window,
It will shrink: You wash your cotton t-shirt in hot water. it will hit the window. If the ball hits the

window, then the window will break.
Therefore, _ |T will S\f\(lf\ k \&dne \O'E“ 1S Hnrown &'\’ Q \)\JI‘!\ﬂIOUlJ,l

n e yind ow will breel
46. Multiple Choice: What is the next figure in this patterne ne wn b

A @ZI B




.

]

Geometry - Ch. 3 Review Name
/ State the following using the picture. Don'f forget to use angle symbols! t
/ 1. Four interior angles {3 ; i 5 L 5 ; LG 1 /2
2. Fourexteriorangles 4\, L2 | L1 L3 ) 3[4 ]
3. Two pairs of alternate interior angles (% & Lb , bnd LH & LS b/6
7/8
4. Two pairs of alternate exterior angled £\ gL % and|_{2 3 &1 ,/

5. Four pairs of corresponding angles 4\ & LS 1| &% & £ ) ! L?' & LG ,chnd L'q & L8

6. Four pairs of verticalangles | £2. & 23 | L1 & /4 |[LS5 & 28 , |land !(-? &L-T

Choose the letter that shows the correct relationship between the angle pairs.

- A. alternate inferior

7. Z3and £ 9 A . Ziand 212 & r § | Boomesideinteror
1

9. Z8and £ 13 & 10. Z2and Z£10 E m n ; 5|6 C. dlternate exterior

[ 2 g
1. 2z5and 27 _F 12, zéand 216 & i - Sourie-Sl Gl ey

E. corresponding

13. Zland £ 2 g_ 14, Z5and ~£13 E " gl ial1a F. verical :
15. Z10and £ 16 A 16. Z13and 215 _F 12/“ 815 G.inearpar

Describe the relationship between the pairs of angles by circling the word that makes the sentence tue.
17. Iflines are parallel, then ....the alternate interior angles are: Eongrue supplementary
the corresponding angles are: (ongruend supplementary

the same side interior angles are: congruent Upplementary

18. Vertical angles are always ¢ongrueny supplementary even if the lines are not parallel.

19. Angles that are a linear pair are always congruent €pplementaryy even if the lines are not parallel.

Find the measure of all the angles shown in the picture.

20, < ‘“.ﬁf L0 - AP NI
‘7@6‘ \W‘Y
« W/g0 ” i 30 \ 150" "

GBAZe" 150" \30"

25. JKLM is a parallelogram 26. E F 27 i s
K L 20’ This is a trapezoid.
1
0 50°
b J 120 M H' G -
. 0 L]
21 150 22 30° « b6 2 120 90" - 130° i VAR
v l o
23 120 z4 (0° M GO
28. ROCK__js a parallelogram 29.3TAR s @ paralielogram 30. PLAY is g parallelogram

125‘\\
R,
<R 1S 406" 21 V6% A _50°

o« 136 s 95" 2 36" 4 35

L"\.A

Y




31. SONG is a parallelogram 32.

21 30 2 60° sson DO 21 z ’ 21 18 22 38"
23 100" 24 (0OQ° 23 109" 24 109° 45 75° 43 707 44 130°

State the type of angles shown and find the measure of Z1.
34, A 35, / 36. P a7, J 38.

120" 7 120" PTG /120“ ’ (P

/ > / " / . ! - 1 )

¥ /l ¥ / + /

Type of angles L| N€aAC P‘M T Type of angles LO((QE?_O“&(‘S Type of angles V(’,(j Ib&\ Type of angles Eln lﬂ:l-f,( 1Y Type of angles Q Mo, ld-ﬂ meﬁw

2 b 2 1} 20 P«Nj\g.) 2 U Wl 21 _120° ATl a2 _bof
Use the relationship between the angles given to write an equation and solve for X.
39. 40 \ 41 \ \
(9x - B)° (16x - 8) > 4 g e
(23x + 25) . « Ym +2) \ = ﬁx + 40) (9x - 8)
Type of angles %% 1 Type of angles FJI \A Type of angles C . A i
Relationship: t I i Relationship: @‘ il 1 Relationship: o6 or supplementa
ngqlf?;;: ip Congruesjn oréupp lementary ) ES;E;:J;;; r supplementary nga;ci);s: ip pplem ry
¥=5+r23x+26 =130 1q7g;,1—!‘0$“‘% 5“,(40;('1%-"3)

x=6 x- 5 x-_ 8

43.
4 =L / (5x)° /

Relcﬂonsmp or supplementary Relationship: congruent of supplementary Reicﬁonsh\'rsupplememory
A i Equation:

Equation: Equation:
5%X¥12G =
Ust-2 =4 R 2x+x=90

X = | \ X= I | X = 30
45. The SYMBOL for Parallel is: / Z The SYMBOL for Perpendicular is -

Determine whether enough information is given to conclude that the lines are parallel. If so, stafe the reason. Choices are:
¢ Alternate Interior Angles Converse [AlA)

Alternate Exterior Angles Converse (AEA)

Same-Side Interior Angles Converse (SSI)

Corresponding Angles Converse (CA)

Not enough proof that the lines are parallel.

t
46, I \ 47. 48. / 49, / / 50 fio
130\ lszﬁ / = b / 4 47
n S
130° 4 AL, < +
\ / / &~ / / " .

ChA (wavesse A
Noenodn P& (nutse  SSI Conuerse ot evevd

infe m{\_o

e O @ @




//

/ Circle the segments or lines thaf must be parallel.

m n
51. 52. 53. 1 A
109 28 \
Hw \ 87
. y
00

e Fi v
choices{ SW || MI pr SM I Wi Choices: 1H || FG 0@ Choices: m || n or@

Fill in the blank with PARALLEL, PERPENDICULAR, or INTERSECTING fo make each statement true.

54. line qgis

55. linepis

P Al é\ Q\ toliner p 9

Q,(QQX\d\ W B(to liner 4

56. linepis SQU‘)fgﬂlelg\‘(fo line g

57. line p is m%‘(%ed‘s(\% to line s

Consider each segment in the diagram at the right as part of a line. Complete the sfafemgnr.

— T

58. Name three segments parallel to 72 . _SW ) N[k, UN !
P — T & T v t (7}

59. Name four segments that intersect 77 . N2, A1 ' ST ; W2 : i

_ —_ = = WL - JEa) 7
60. Name four segments skew to 77 . LAV } X Y ' VS XM\_J' 7

e
X
Complete the theorems about parallel, perpendicular and skew lines.
61. Al right angles are _ Lo %1 wenk
A Choices:
62. If two lines are perpendicular, then they intersect to form four Y| Os\n’r 3'(\%‘33 CONGRUENT
5 INTERSECT
63. Two lines are parallel lines if they lie in the same plane and do not indersect PARALLEL
. PLANE
64. Two lines are perpendicular lines if they intersect to form a C \0\\,\(\'\ angle. RIGHT
) \ RIGHT ANGLES
65. Two lines are skew lines if they do not lie in the same ‘D AN e and do not intersect. ||
66. Two planes are P&(&\ \?\ planes if they do not intersect.
67. Draw a segment through Z parallel to R {symbols) 48. Draw a segment through Z perpendicular to }E{symbols.'}
~
Z P Z
@ Ny 9 L @

I o K ] l K

Fill in the blank with a number.

69. Parallel Postulate If there is a line and a point not on the line, then there is exactly | line through the point parallel

to the given line.

70. Perpendicular Postulate If there is a line and a point not on the line, then there is exactly I line through the point
perpendicular to the given line,

Describe the relationship between the lines shown. (intersecting, parallel, skew)
lines w and k

71,

72.lines j and k

73.linesm and k

74.lines uand w

75.linesm and n

u
4
w,

i‘(\%(&&dﬂ‘(\ss

Indef se;,h‘rw)



\

Geometry Chapter 4 Review Name: :
MATCH each type of friangle with its definition. \
Equilateral Triangle Equiangular Triangle j'__ A. Triangle with one right angle. E. Triangle with one obtuse angle. \
Isosceles Triangle L Acute Triangle L B. Triangle with all (3) equal sides. F. Trangle with two equal sides. \\
Scalene Triangle Q_ Right Triangle __A C. Triangle with all (3) equal angles. G. Triangle with no equal sides. \
Obtuse Triangle _& D. Triangle with three acute angles.

Classify the triangle by its sides.

) 2. 3. 4.
Aequi\ Mesel /\S@\e\r\t 7V 1sos@les
3 5 3 1s0scelog
6.

Classify the triangle by its angles.

20°
5. Tf%\\"' 7 60° eqvi AWU\J‘M 8. 42°
35 orusL aou%
60° 60° 70° 68

Classify the triangle by its angles AND sides.
9 10. 1. 12,
2 /115° 3 60°

2 2

~

a
60° 60°

Sides: equilateral lsoscele} scalene Sides: equilateral isosceled scalene Sides: fequilateral Ysosceles scalene Sides: equilateralgfsosceled scalene

Angles: acute obtuse equiangular @ Angles: acute quicngulor right Angles: acute obfuse right Anglebiuse equiangular .

Identify j‘(he side opposite each angle. Use the picture to name the following. Name !ére equal sides and equal angles in each picture.

13. 14. 4 15, 16. A
e 1 N0 @.
Y z e 3
B (o
L E Mg

-
Side opposite /X: i Z . D o
Side opposite Y: i—i Legs_;L.B_E_ Base &D Equal sides: € & ' D Equal sides: BA ) Ac
Side opposite ~7: i j Verlex angle Lﬁ Base angles LA 'LC Equal angles: [.Q ; L ») Equal angles: L B 1 L‘C
*Use correct notation! B
Using\ ABC, name the following. 2

G

17. The interior angles of this triangle are H (.U'\’ = The sum of the interior angles is |ﬂh degrees.
18. The exterior angle of this triangle is L The adjacent interior angle (next to the exterior angle) is é 3 1 3 2

19. The exterior and the adjacent interior angle add up to lf} ﬂ.degrees. The remote interior angles shown are L) ﬂ—l

180°
20. The sum of the remote interior angles is equal to

Find the measure of each angle.

1

2. ms=_99° 2 me1= 2%° 23. ms1=_&0O° 24, mz1= DO 1 on 60°

o -]
Each angle in an equlangular friangle is _@ degrees. m43=m
V4
4

81°

- 1 35° NI
> /116 ’,,5 2\\*
25, mer=_ 38 o -42° 2. ms1 = |UG* 27. m41=i5° 28. m/1 =\£5°m42= 125°
mz3=_5%5%m.s4= 96° m.5= 145 ¢




10 x
20 X
9

v,
v/

7
29, x=_2.0 30, x=i 31, m =6jﬁm42=66° 32, msl= _Gﬁemzz 50
s (9 . ..;_..,A A 120°,
3. mes= M9 moo=_YH6° . ma=1¢ mu=-10° 3. me2=90'ma=]16° 4. iz B pion OO
mz5=_| Ioo M
Write an algebraic equation for each triangle and solve for
37. 2xF 37 38. 39.
10 10
116°
{x + %
L N
Equation: 2)( =30 Equation: W - \ 0 = L‘ 5 Equation: € y = 6o
X= l b X= ‘
40. i § 42, |82
84°
a7
Equation; \, +129 +(\ll“5) - |80 Equation: 3,\*,3; q Equation: zx & 62"'8“"'
y= 2 5 X = '2" L X 1 3

i k5 . «
v’ State the Pylhagorean Theorem: OvF0 = €1 whatis it used forz Findf(\% Sidlesof RIGHT 'Htaﬂ%@

Use the Pythagorean Theorem fo find the foMoM'np missing side. An equation must be given! Roun:;:i0 decimals to the nearest 100,
45,

43.
hy}
0 s Ahye
24
Equation: 01- ":_ )‘.z ‘ Equation: 1+-|2,L; \31‘ Equation:
V0532 o

- Bk g B x-90

46. 47 48.
h S
X 13
Equation: % Equation: juation:
A
\‘01'}”‘ :33 \S’“-l—-l‘]t"x ®2y\3%z ‘S



49. A 20-foot ladder is leaning against a wall, 50. A 26-ft wire is attached to an electrical pole. The wire—ﬁ_
It reaches up the wall 16 feet, attaches to a stake on the ground. If the stake is 10 feet
How far is the bottom of the ladder from the wall2 from the base of the pole. How tallis the pole?
Equation: )
- L |
Equation: X‘Z_’, ’bl,}wl h Lb hl'}' l 01;26 \
1o
A=126+
51. Find the length of the diagonal of a square if each side 10| 52. Mary hikes 7 km north and 5 km west,
A,"' How far is she from her starting point?
Equation: Y A 1'—’
6 \ \0 -Pl 0 Equation: 1 WQ?E
0 - ]
14945 = c? E
(‘\ Ly
d =14iUemn " C=B.km

Can the given side lengths make a right triangle. Circle yes or no. You MUST support your answer with an equation!
53. 4f 7 ft 54. 10ing 261y, 24 in. 55. 16cm, 12cm 56. 20in . 21in,
Equation: Equation: Equation : 5 Equation:

2 L = . P A

H27*9 1024 24 = 26 i =gt 2o+ 722K
Ty ad 676>0706 Yoo=400 sy Z1¢Y

yes or es) or no or no yes or @

Given the Pythagorean Triple, state THREE OTHER MULTIPLES that are also Pythagorean Triples.

57. 3,4, 5 58. 512,13 59. 8,15 17
G, %10 81‘ 10, 24, 26 & \6,30,%4
v3)q, 12415 s, 36,39 ¥3) 2Y4,4S,5)
@) (2,16,20 9D 294y, 52 ) 32, 60,68
ind the DISTANCE between the two points. Round your answers fo the nearest 100", if necessary.
60 :—_ . Y . 1 6] . _'_r'[;"”'" T
A -
mEmEEr N T 2%
~TAfo, O T Y M1
ammE e e L 543 || co\g-2:2x) B2
1 i A RAL p——
1 Ay = ———
| Bi41) . Acnr
1 ¥ X r
I AEfa
62.(-2,1)and (3,2) d= J(x_x)2+(y_y)2 63.(-1,2)and (3,0)

d :m—nl d =N G-6 +(0-1)*

d={6e x5 d={20 = YU

e —

el 9 ————



Matching: d -
64. A segment from a vertex to the midpoint of the opposite side E lé,ﬂ A. Altitude

65. A segment from a vertex perpendicular to the opposite side ﬁ\'h'h)dﬂ B. Angle Bisector

q C. Median
66. A segment from a vertex that bisects the corner angle ang;‘t b\SQ.Q‘I‘U/ d
D. Perpendicular

67. Cuts a segment in half and makes a 90° GngIeP_&(PQﬂ.dl‘wl&r b;'sed‘n/

Bisector
BD is a MEDIAN of AABC. Find each length. \
é8. 8 69. i ok
D :
A DB ¢ B ¢ "
AD= 5 AC = H) AD = I DC = l AD = 1 AC=JH
- A
71. The medians on this picture are segments: A D, e ‘?),, e 8
: IF c
D
E
Draw and label the MEDIAN from veriex X.
72. 73.

X

Fill in the blank. ' d N 1@
74. If a point is on the angle bisector, then it is ec! AL LD V\"’ from the two sides of the angle.

Write an equation and solve for x. P :
75. 76, 4 7{3\ 77.
%43 S
pare £ i 0
Bx;ﬁj/
R ' b
Equation: IOK U _}gx{,'z’o Equation: L‘ X_'__,.'b -;8 x‘.—q . Equalion: 6 x._.‘—' - 3& ’—_-I
X= 5 X = ’} PS:lS RS = |5 X= 8 PM = 3\MN= 3'

\ .
78. If a point is on the perpendicular bisector of a segment, then it is e‘i‘\”d 1 hﬂn" from the endpoints of the segment.

Write an equation and solve for x.

AN

B

g 3x+ 8
73, 10x - 4 80. ]L\ 8l. ACHE ¢
A £ c DV3
7x— 16 bx— 20 2x+ 4
W c

D

r— o Equation: Equation:
) 0% = Y x4 3x+8=Tx-lb Gx 20=2x+Y

xz_?)__scgﬁncgi(ﬂ_ x=‘G_AB=7f_("CB=l(° X=_&AD=&CD:7/_O



Write an equation and solve for x.

82 | a3 m the angle
: PS is a median. ’ bisector of ZX.
Y
=R e R
(5x+7) 22 (6xe3)
X+
Equation: SX‘F 7 - 2 Z Ecw::m::vr'r6 x +-3 2_-'

Fill in the blanks: ~ L
_34_6_ sides are across from BIG angles, J,lﬂ(lsldes are across from LITTLE angles andMsldes are across form EQUAL angles.

List the ANGLES in each triangle from smallest to largest. List the SIDES of each triangle from shortest to longest
84. 85. 86. A 87K
" 707
a: 50° > S
Find m 21 first.
60°

s LGLE g, 88, TS BAW LIV

88. Triangle Inequality Theorem: The sum ofcnym sides of a triangle must be ... ]3 ]% %2,[ H 14 3] d S i\@

Can the following side lengths make a triangle? Circle yes or no. Explain all answers!

89. 1cm,2cm,3cm |+ Z‘é 3 yes or@ 20. 2mm, 3 mm, 4 mm 2+?)) Y yes or no
91. 8cm, 8 cm, 8 cm dre )8 @or no 92. 9mm, 9 mm, 18 mm CiH}Hs yes or
93. 21m, 4m, 13m_Mq > }Zl yes or( no 94. 50 cm, 50 cm, 25cm%1’go7s_° yes or no
95. Draw and label the 97 What is the length.of LK? £
ANGLE BISECTOR of X. B 7 3

R 4 @ © 18

@ 19 (® 26 3y 5y— 12

X
96. Draw and label th : -
e e 98. What is the length of JK?

PERPE_NDI'CULAR BISECTOR ) ; G 7T~
of AB. A 6 ® 13 (@ =3 T a9
D 26 (E 36 N




' Geometry Ch. 5 REVIEW Name

Cofre&\xmdl'/u'j Sides § c\,md(m MY (1 M%VUCVI+

of corresponding sides and angles. Order of the lefters matters!
c R L X

I E T s = q s X
2. Pairs of Comresponding Sides Pairs of Comesponding Angles

B i [of ing Sid Pairs of ding Angl
3 Pairs of Corresponding Sides  Palrs of Conesponding les
CD= _RS £C= L%

1. What does it mean for two triangles to be congruent?

Study the picture to name ail the pairs

4. Mark each pair of comesponding angles
Y7= L¥ o & & o and corresponding sides to show the congruen
— == — - parts. APQR = A ABC
EC= _P3 P O A 7X= 9L 2y = L3 A ©

P
DE= S1 ZE= LT Z¥ = J&

sz = LK
Congruence Statement: AECD = A T% Congruence Statement: AZ.XY = A KLT
B CR Q

5. CPCIC stands for: Co(res ?“ldfl‘% Parts of

Con %(Uﬁﬂ+ Triangles are _C onc&men+
Given A ABC = A DEF , find the missing length or angle measure.

¢ 8
4 B D F
A F /3 A F 3 F
é. 7 8. g 12
8 13 Hint: How many degrees 10 Hint: How many degrees 3
are in a triangle? are ina triangle? 8O?
c E
B c D ' D

9
B
DE=8 Bc-Y uc-1> DE=_ Bc-3 Dr-\o

A
EFS 312 -8
meB = JH_DoméF - 36° ma- _16Y s _agoméF =&°m45 -_Loo®

@
mzsD = 30 m«£F = 8rf:'méEz -’0°
Mark the triangles to correspond to each postulate:
9. 888 10. SAS 11. ASA

12. AAS 13. H-L

VN B NG NP NP

Name the postulate which could be used to show the friangles are congruent. Don
Fill in the congruence statement where indicated. Choices are: $SS, SAS, ASA, AA

't forget to mark "free” sides and angles!
S, H-L or none.

M P L R - K L g
14, i’ 15, ;’ Z’ 16. E ﬁ 17. j V
N oA o . ] 4 B ¥ * A E F
Postulate _SS S WL

E D
Postulate &SA

Postulate Postulate S, &5
AMON;A_@ APQOR = A JK\ ALK =A_PMN AFED=A_BCA
18, s L 19. 7 7 20, A B 21. 4 8

h A Z\[\ A/} i ‘

R TN m R L Y ° - D €
Postulate _ Non e Postulate _ PrfPrS Postulate _ 9 AS Postulate _ SA S
ASTR=A__~ AZYX = A TRS ampc=a BEC AMDC=A EBC
22 y P Q 2 a8, § |

; ; 4, ]
23, P, - |
1 sfL s
A IS D s R K : M ; L H‘ILU
Postulate S A Postulate HL Postulate  SSS Postulate _AXS
AMBC=A_ DBRC APOR = A RSP

AKIM = A LS\ AUHS =A TNS



Mark the pictures first and then state what postulate proves the triangles congruent. Choices: $S8S, SAS, ASA, AAS, H-L or none.
2. AB=MN ; ZA= /M 27. AB=MN ; ZA= /M 28. AB=MN; AC = MO 29. AB = MN; BC = NO
.and ZB= /N, and ZC = £0 and BC = NO and £B= ZN

Do B BN P B b 20 D

Postulate & &E Postulate A Pi’s Postulate SS S Postulate SA S

Using the gfven information and method, state the PAIRS of additional information needed fo prove the fnangles congruenr
30. BC = YZ LC= /A7 AAS Postulate 31. BC = YZ LC= L7 ; SAS PosTUIGTe 2. BC ¥YZ L0277 ASA Postulate

P VA WA WV WA

Pair of sides or angles needed A'(! g Z Z Pair of sides or angles needed L h ? L !

34, E = E(—Z— ASA Postulate 35. AC = XZ S§§S Postulate

VAN ANRVANAN

A

Pair of sides or angles needed LA gL*

33. BC = EC'; SAS Postulate

[Hint: Mark "free" angles!)

Pair of angles needed

Pair of sides needed

Bl: ]D
C
A B

— q —
Parr of sides neecled_pL_c"b

36. AB = XY ;SAS Postulate _ (TWO solutions)

(Hint: Mark given sides... each solution has a pair of sides and a bair of angles.)

8
ONE WAY: Aﬁ
A — & A z

Palrs of sides needed i

Pailrs of angles needed z A,‘ LXK

37. AB = XY ; AAS Postulate  (TWO solutions)

{Hint: Mark given angles... each solufron has a pair of sides cnd a pair of angles.)

2 Za, OR

z
Palrs of angles needed d A i L X
Pairs of angles needed LC i L x

ONE WAY:

Pair of angles needed;&ﬁ

O R THE “"OTHER WAY":

BC{—z_

Pair of sides needed

ﬁﬁl

Palrs of sides needed

Palrs of angles needed L 5 g L\{

THE “OTHER WAY":

&&

Palrs of angles needed

Pairs of angles needed Lc' ! LZ

Is the segment a LEG or the HYPOTENUSE ?

. FE__|€9 D
». FD_hypetenuse

40. DE IQ“

Name the ANGLE that is included between the two sides.

4. CDand BC _ LC B
42.EandC75’ LB A\
43. DC and BD Lo

44. AB and BD L \3 A a ¢




y
Geometry Review - Ch. é Name

For each of the following shapes, state the definition, draw a picture, and choose the letter that corresponds to the
properties.

Parallelogram

- osite S|
Definition: jkp_—ldtls_au_\:ia\(d CHOICES FOR PROPERTIES:

Picture: ; S
A. Opposite sides are congruent
Properties: 1. P" 2. B 3, C_ 1 D B. Opposite angles are congruent
C. Consecutive angles are supplementary
Rhombus . .
. A D. Diagonals bisect each other
Definition: Kl sides 2 . .
E. Diagonal bisect the corner angles
Picture: .
D F. Diagenals are congruent
Properties: 1. /)f 2. P) 3. C 4. G. Diagonals are perpendicular
s B o &
Rectangle Square
‘ \ -~ =2 [}
Definition: __Cothe( analay ace q0° pefinition: | Sido s = / all &f\%\(mg =G0
Picture: Picture:
Properfies: 1. = i) P_) 3. 4. \ properties: 1._~ 2. B g L 4 I

5 B 55 6 F 7. G

Trapezoid Study the Venn Diagram which relates all of these quadiilaterals..

i parallelogram x

rhombus rectangle

Definifion: € RACk \U\\; i pah’ of Pudz“«ﬂ-l sfd&s

Picture:

g
An isosceles trapezoid has = IE%S

The base angles of an isosceles trapezoid are
[

[

—

To find the length of the midsegment, you adCl the bases

together and divide by __ % . Vo, +h
: C B
Answer true or false.
1. Every rectangle is a square F 2. Every square is a rectangle T
3. Every parallelogram is a rhombus F 4. Every rhombus is a rectangle F
5. Every square is a quadrilateral T 6. Every square is a rhombus 1
7. The diagonals of a rectangle are perpendicular E 8. The diagonals of a square are perpendicular g i
9. The diagonals of a rectangle are congruent T 10. The diagonals of a rhombus are congruent |:

11. The opposite sides of a parallelogram are congruent T 12. The opposite angles of a parallelogram are supplementary F

" -
13. The diagonals of all parallelograms bisect each other _\ 14, The diagonals of all parallelograms are congruent I:

Name the following segments or angles in the frapezoid. Use the correct notation! e -
—_— = iz
15. Two Bases: P C D 16. Two Legs: _ P, €D il \ y
—
17. Midsegment: Dol 18. Two pairs of Base Angles: LA LD & £ Q,LB / E

n




For each PARALLELOGRAM, find each length or measure.

19, & £ 20. (o0° 3
& 2
[} 0
A 55 . b |

o
y
m«£C 560 mzB _ | LS" mz1 |oo® mz2 ool
O
BC=_ P pc=_G mz3_(0° msa_©0
For each RHOMBUS, find each length or measure.
8 c
22. i 23.
A D
<
m«£C HOO mZB ] !Oo mz1_2.0 = mZ2 20
N ©
sc- b oc=_b mes_20° s 1Yo*
For each RECTANGLE, find each length or measure.
> C
25: 26. 2
s | * =
A
i - |
A T} (s}
o (&) L o
mZl [0 mZz2 o) mz1 30 ms2 30
o -]
sc=10 DC= o ms3_ 0 mz4_10
For each SQUARE, find each length or measure.
8 c
28. |2 2. |3
5
|
o L 3 2 b
o ¢ .
mZ1 |0° mZ2 C!O mZl ""5 ms2 L‘S
L
BC=__9 pc=.9 me3_q0° mz4_90
For each TRAPEZOID, find each length or angle measure
3 ] “ R S 32. T P
132° 1n3°
g
18° N
a i T s A
[} [} G &
m«£R l DZ mZT Ll '5 msP I | 3 msS 67
me«A_©7° pPa_B

21,

27,

30.

33.

)
° \
5 4
w rA
oY x2_8
or_ wy 10
l.‘»
2
|
mZl ﬂﬁ mJz?2 l) u
m Z£3 Z( 1° mz4 _—mo
X Y
0
/'j/. y
0
i 2 1 "
XO_I—’ XZ % OY_L’

o~
mZz1 27.° lssz IQL‘J°
mz3 M0mze Yo' y= "L: e ‘6'5

Name all the quadrilaterals that have each property. Choices: parallelogram, rhombus, rectangle, square.

There will be more than one answer!

34. All angles congruent P\C (’h H‘BLQ',} SC!‘UM (

35. Opposite angles are congruent

Palel(o,(o*jl (e, Raombus, Rec,§

36. The diagonals are perpendicular [?-V\UM v S‘. SqVUB«{e. 37. The diagonals bisect each other p&m[ ‘4(03 ¥ ain




Us:‘ng the properlies of each shape to write and solve an algebraic equation for each picture.

Parallelogram Rhombus Rectangle

38. 39. 40. ™ A
A (2x+20)°4 8

: (2x + 5)°
D - c 2 {5x + 15)° 4
Equation: 2?""'20"‘3x+10':"30 Equation: 3)(-\"0:55( Equation: 23_]_5 +5x+l(5.___qo
= 3 0 mZABC = SobméBCD = I 00° X= 5 X= I ( )
Square Tragez‘(}id IsoscelesTrapezoid
41. 43. \pe30y  (@x°
(2xr30)
Equation: 2 7(. 4'30 - O’ 0 Equation: | 0)‘- _].. 'OK +20:lgo Equation: X +_3 - Lf X

s A0 . vs |6
MATCH the namg of each polygon with the number of sides.

44. Decagon (A 45. Octagon A. 3sides E. 7 sides

46. Quadrilateral( B 47, Hexogor@ B. 4 sides F. 8 sides
48. Nonogor@ 49, Penfogor@ C. 5sides G. 9 sides

50. Heptogon@ 5], Triongle@ D. 6 sides H. 10 sides

Classify (Name) the po!ygon by its number of sides.

O B Iy N T 9

Hexagen Cﬂ‘l'a—‘bcm Y 0 e
Name the foﬂowmg for the pentagon shown. QU dm‘ d’é-fj i L ‘\’n% o D€ ¢ Q cj oo

58. Two sides adjacent to RS ST i EQ 59. Two vertices consecutive to T S - E T R

T —

60. Two angles consecutive to £T L 5 LF 61. Two diagonals with endpoint R TR E@_ P Q

66. The sum of the angles of a TRIANGLE is LB o° 67. The sum of the angles of a QUADRILATERAL is :3 6 0 o
Use the formulas to find the measure of the missing angle.

D
62. 63. 65.
/\ lx 60° 7€
oloss 135/

E
mzl1= 8 = mzl= 130 mzZD= 7 mzD= 1() =




